Sample questions for Second Exam
1.  Vertical Integration 


a.  Explain each of the following rationales for vertical integration:

i.  Successive price searchers

ii.  Technological economies



iii.  Monitoring economies



iv.  Price discrimination



v.  Variable proportions problem.

b.  For each rationale, is the vertical integration efficient or inefficient?

c.  Assume the company at issue sells fifty percent of its primary output to other companies and fifty percent is transferred to its own vertically integrated division.  For each “rationale” of a., would the market share of the total output of this company’s primary output as a percent of the market output of the primary good be an “appropriate” market share?  What do you mean by an appropriate market share?
2.  Maxim Inc. has a "secret"  specialized analogue to digital (AD) chip.  One other quite small seller (Qualitron) has managed to reverse engineer the chip.  Many other producers make various other types of AD chips though none exactly duplicates the Maxim function.  Maxim's production cost for making the chip is about 36 cents each.  They sell about one half of their chip output to various companies making flight data management systems (FDMS) used in commercial and military aircraft.  The other half of their chip output is used in making a computer mouse controller device that they make themselves.  


The derived demand for chips in the FDMSs about -1.2.  Maxim sells about three quarters of the chips used in FDMSs.  


The Maxim mouse device sells for 72 cents and it includes other parts costing Maxim about 30 cents.  Maxim sells about three quarters of this particular type of mouse controller device.

A.  Do you believe there is a "relevant economic market" for the Maxim AD chip used in either (or both) FDMSs or in mouse controller devices?  Explain carefully referencing what significance any of the provided facts played in your analysis.

B.  What would you predict about the market share of Qualitron in the sale of its chip for use in FDMSs versus mouse controller devices?

C.  Based on the provided facts why might Maxim elect to make the mouse controller devices but simply sell the chips to FDMS manufacturers? 

3.  Microsoft has been accused of engaging in a number of exclusionary practices.  These include:
a.  Vaporware - announcing a “shortly” forthcoming product at the same time that a competitor introduces a product that has improvements on the existing offering.  For example, shortly before IBM’s OS/2, with its ability to simultaneously operate multi-programs, entered the market, Microsoft announced that Windows 3.1 would shortly be forthcoming and that it would also have similar functionality.  In fact, Windows 3.1 wasn’t released for 18 months.
b.  Withholding Development Information - providing “beta” releases (operating systems in development) to application developers that did not write apps for alternative platforms.

c.  Bundling MS centric OS extensions - including potential platform threats in MS operating systems, for example, Internet Explorer and making the MS version incompatible with alternative platforms.

For each of these, provide an efficiency based and a market power based explanation and explain what information you would seek to select between them.

d.  Microsoft is also accused of generally withholding operating system information from developers and thereby favoring its internal app developers. 
i.  Under what (if any) economic conditions would Microsoft have an incentive to raise the cost to third parties of writing DOS or Windows applications?  Again, discuss both efficiency and "market power" incentives.

ii.  Discuss what additional information you would seek to test your explanation(s).

